a(0 z) (um) tor PV Ratio a(0y) (um) for PV Ratio (0 X) (um) tor PV

Ratio

10?

1.UD

0.95

10k

.

Sum of track p_ (GeV)

G(0 X) (um)

Ratio

=
o
w

10?

1.UD!

0.95

Iy

2
10 Sum of tral& p, (GeVv)

a(0 x) tor merged vertices (um)

Ratio

10°

10?

1.UD!

0.95

—— DQM_V0001_R000000001__Global _mKkFit100PIXLLNO__RECO
—— DQM_V0001_R000000001__Global _mkFitl00PIXLL _RECO

— 3 —
£10E £
3 - =
N [ 2
102 g [ 2
- o] L. 6
>
= o
3]
2
: : [}
: : 10k =
: : [ 5
: : " =
: : : - S
o : . L. [S)
T T P
Luo—i —H i o vl o
Lo I : IS t T
[ D : o L 14
T - r
0.95L—i . | :2 ; ; ; 0.95L HEEHHRN ; HIH I S , 0.95 HEHESHHER ] ;
10 1 0 0] 1
Sum of track p_ (GeV) §um of track p_ (Ge\})
e F £
= o =
N @
) g
5 10 o 10°F
F- > -
[ o
107 - S
I Q
L. 1S
S
2 o102
10°E < 10°E
B k- )
: - ©
Luof— i—it o +wof o +w
Lo I IS F T
Lo I a4 L [0
i R B 3 S 5 B O 3 6 A I 1
0.950— ;K ; ; ; 0.95L LELVEVEEVTERRIBIEERE:: 1 ¢ ¢ ¢ 0.95 HEHESHHER ; ;
102 1 10 1

Sum of track p_ (GeV)

2
Sum of tralc?< p, (GeVv)

Sumlgf track p, (GeV)

Sumlgf track p_(GeV)



	Contents
	Page 1


